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Easy one to 

start off with. 

White to play 

and win. 

Answer at the 

end of the 

newsletter. 
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OK – let’s get your brains working. 

White is clearly better here being 2 

pawns up.  

1) What is black’s best try and 

why? 

2) How can white disagree with this 

idea maintaining his advantage? 

Answers are at the end of the 

newsletter. 

An endgame puzzle for you: 

This is a position from Nalichowski v 

Bateman Division 2 5
th

 April 2011. 

White played 74. g6.  

1) Why is this a mistake? 

2) What is the move white should 

play to equalise the game? 

Answers later. 



3 

 

White to play. 

Black is 

threatening to play 

c4 trapping the 

bishop. 

Or is he? 

What was now 

played?  

Give some 

variations to show 

it all works. 
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Other News 

 

Gerry Chauval, Sam Smith, Jonathan Spicer and Steve Naftel 
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Opening Titbit – 5...Be7 and 6...exd4!? in the Evans Gambit 
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The cavalry against the castle – Fred 

learns the hard way 

Two knights versus rook, a Guernsey story 



11 

 



12 

 



13 

 



14 

 



15 

 



16 

 

Tics and Tacs 
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Solutions 
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 Hamperl, Fred (2084) - Safranska,Anda (2288) 

 
 

 
 

 


